EQUIVALENZE

Completa le equivalenze

69dm=____ hm
AOmm=____ m
56mm=____  dm
0,085hm=___  dam
310,88 m=_____ hm
453.9%cm=_., E¢‘m
0,033m=____ _cm
0,074dam=___ m
f8cm=____ dam
0,6dam=___  hm

Realizzata da @Maestra Stefania

02dam="2"_ .dm
332,7dam=____ hm
349,2dm=____ dam
0,001dam=_____ dm
5046dam=___ m
2cm= m
0,002m=____cm
1:219m=2. " “'cm
3dm=____ dam
0,504dam=____ cm

0,001 m=___
6,018m=_____
0,085m=___
9416 hm=__

3,6 hm=

6,215hm=___
1.3 TV
1.698mm=__
150,8cm=___

0,038 dm =

122,8dm =
0,009 dm =
57cm=

0,1cm =

45,9 mm =
164,2dm =
0,006 dm =

0,004 m =
0,006 dam =
0,006 dam =
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